Stat 1350, Counting Sar
Instructions: For each ¢
combination of events (

diagram.
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2. Suppose that yo

you can take two friends to dinner? Suppose your friends areénamed Zack, Yvette, Xavier, and

Wilson.

Y

2y, 2K, 2W

N

nple Spaces with Trees, Spring 2015 Nan*;e K é Y

f the following scenarios, draw a tree diagran*éi to list all the different ways a
:an occur. List and count the events in the sample space based on the tree

ree people are standing in line. How many di!fferent ways can Aaron, Beatrice
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u have four friends and want to take two oftﬁem to dinner. What are all ways




3. Suppose that you only have enough money to give three gift.d; to four of your friends. You don’t

want the one frliend to feel like you slighted them intentionally, so you decide to hold a raffle for

each gift. Each of your friends Joe, Stewart, Martha and Kendra get a raffle ticket for each gift.
The tickets for elfach gift are put into a hat and one ticket is driawn randomly. The process is then
repeated for the next gift. Because of this, it’s possible one friend could get all three gifts!

What are all the possible ways the gifts can be distributed?
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TME, TETI, TS, TN (T, T3, 55, STHSTE, 557, Ss5, SN,
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4. Use the information above to determine what are the chances that only women (MartMA f\_{\L !

Kendra) receive "any gifts? KSI) K\TS 1(3_”\‘ K.IQ, Kﬂ" K<< |
KSM, KSK| KMT) KNS, Kiwm, KK
KT KKS KKM KKK




Example. Suppose that two children split the responsibilities for coo ing dinner one night per week and
for cleaning up afterwards. However, since there are three children obbie, Kelso and Pat, you decide

to distribute the chores randomly each night, knowing that over the I! ng run, it will be a fair split. How
many different ways can the children be assigned dinner chores? ;
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If we assume the same child can get both chores, it looks like this in a|tree:

B
Bobbie Kelso Pat Making Dinner
. Bobbie Pat Bobhi4 Pat
Bobbie Pat Kelso "
Kelso Kelas
Doing Dishes
Thus the possible outcomes are: BB, BK, BP, KB, KK, KP, PB, PK, PP.
If no child could be assigned the same chore, it would look like this:
/"‘\_\
rasidle Kelso Pat Making Dinner
Kelso Pat Bobbie pat Bobbie Kelso
Doing Dishes
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In this case, the outcomes are: BK, BP, KB, KP, PB, PK. ;

In this case, the order matters because the chores are different. But if it doesn’t matter, you can still
construct the tree the same way, and eliminate any “duplicates” where only the order is different like BK
and KB would be the same, so they should only be counted once. Be sure to ask yourself on each
question: Can the people in the set be used twice? Does the order of selection matter? (In the example
above, could someone like making dinner, but not like doing dishes?)



